TMATH 126: Quiz 2

You may use any work of yours that you made from last week. This includes, pradticejproblems
from the book and worked out WebAssign problems. This does not include photocopies of notes
from the book or tutorials shown on WebAssign. You may also use a calculator, but you are not
allowed to use any device that can access the internet.

Show all your work (numerically, algebraically, or geometrically) for each and simplify.
No credit is given without supporting work.

1. [8] TRUE/FALSE: Circle T in each of the following cases if the statement is always true
and provide a brief justification. Otherwise, circle F and provide a counterexample.

Recall that - refers to the dot product, and X refers to the cross product.

@ F The equation z* 4+ 4* + 2% + 8z — 6y + 2z + 17 = 0 represents a sphere with
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2. The vectors uw, v € R? and shown below, answer the following:

(a) [1] What are the components Y 4
of u ? f\ .
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(¢) [2] Draw the vector ¥ 2% . o
@’@
OO /W C,Q/\/\.\ Q _

“Q “"“ > o\c‘)é*%\\@ j

(d) [2] Flnd TS Q

Q4,7 L2\ = 4%y 9.\ 2\ H =0

R

(e) [4] Find the projection of ¥ enly U
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3. [2] Find a undt vector ort nal to bot 1 —1,1) and (0,4, 4}. Qv\ g
=, 0 %,
YATAN <’_\J~—\[\7 O;L\;"\> s oMwsoral e oSN AL R Tk, ’GVQ-S\ N

. 3 v = T(“\-‘\?\"ﬂ 22 (V-0 +V Gd-oN =" 7 RS *‘\\2
O 4«
M veckoe doRs, O Ny oY \v{\g{\’\ M@r\ <

(X \QX%Q'\ VS \\ \gL\k\be\b \}(91, (gg = b) a4 L Len
_ﬂ_ @
SN TAGY O\Ccog&\\.%\é < \FTG el \ﬁ(; <@




